= BARRACUDA

ASSEMBLING INSTRUCTION

CLASSIC WINDSHIELD

YS9300-C-23

WWW.BARRACUDAMOTO.COM

LEGEND

. SCREW M5X15

VITE M5X15
TORNILLO M5X15
SCHRAUBE M5X15
VIS M5X15

. RUBBER THICKNESS

SPESSORE GOMMA
ESPACIADOR DE CAUCHO
GUMMIDICKE

ESPACEUR EN CAOUTCHOUC

. KNURLED NUT @5

DADO ZIGRINATO @5
TUERCA MOLETEADA 05
RANDELMUTTER 05
ECROU MOLETE 05

. NEOPRENE

NEOPRENE
NEOPRENO
NEOPREN

NEOPRENE

. BODY SPEED NUT

DADO A PIASTRA

TUERCAS DE CLIP
VERKLEIDUNG KORPER BOLT
ECROUS CLIP

. LARGE SCREW M6X16

VITE LARGA M6X16
TORNILLO ANCHO M6X16
BREITE SCHRAUBE M6X16
VIS LARGE M6X16

. SCREW M6X16

VITE M6X16
TORNILLO M6X16
SCHRAUBE M6X16
VIS M6X16

. RUBBER WASHERS

RONDELLA GOMMA
ARANDELAS DE CAUCHO
GUMMISCHEIBE

RONDELLE EN CAOUTCHOUC

. KNURLED NUT @6

DADO ZIGRINATO 06
TUERCA MOLETEADA 06
RANDELMUTTER 06
ECROU MOLETE 06

WASHERS
RONDELLA
ARANDELAS
SCHEIBE
RONDELLE

. ALLEN SCREW M6X14

VITE A BRUGOLA M6X14
TORNILLO ALLEN M6X14
INBUSSCHRAUBE M6X14
VIS ALLEN M6X14

. THICKNESS

SPESSORE
ESPACIADOR
DICKE
ESPACEUR

USE ORIGINAL ALLEN SCREWS

HORN BRACKET




